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It is applicable only where he can disgorge it with difficulty

OVERVIEW

The &3 is discussing the feasibility of n"2%» when someone thrust 72170 down
another’s throat. The X3 asked; if it is 11778 ¥, then the eater’s obligation to
pay (for the entire 717N that he ate), which takes effect when the 72170 was placed
in his mouth, precedes the 7n°» 211 (which is when he swallows it) and there is no
n"2%p. The X3 answered it is MR, *¥n with difficulty. mooIn explains how this
resolves the problem.'

- HYON’I 7357 793 DIYYA NN PRT D977 9919 KIYY XNWN)
So now (that he can disgorge it only pr7i °"v) we cannot say (as the X723 asked
previously when we assumed that it was 117787 %) that he should disgorge it,

since the owners will not profit from it, for the food is already repulsive -
- 1ANS 1PN TN PP NNIN 2T 5Y XN P 290 NI%Y 7a9h

Therefore (since it is 10821 720) there is no monetary obligation for not
disgorging it, but rather there is a monetary obligation only for the y¥» nXi7, and
at that time the 7n°» and 1% are simultaneous, so he is Mo because of 7"27p.

mooIn anticipates a difficulty:
- 5151 19%2NY 2 Y 9N

And even though that his friend stole it; so why should he pay (even) for 1y nxi7?°

mooIn responds:
= 12 NN NP NIN 19NY PYa NIAY 1190 NMN NYINNY 5159 HININ

' Seemingly the original question remains he should have disgorged it, so the 7van 211 precedes the 0" 217,
2 If it was thrust in his throat in such a manner that it is *177X> *» only pr7a *"v; the food is therefore repulsive and
worthless, so the eater ate something worthless and no payment is required.
? The eater did not steal it; the point where he can possibly be liable is when it is pr7:1 "y *1177%> "%, at which point
it is worthless to the owner, so he does not owe the owner anything for destroying (by swallowing) something which
is worthless.
* He should pay the owner, for the benefit which he derived by swallowing the 7171.
> The one who thrust it down his throat in a place which made it worthless to the owner; he should be liable to pay.
® This question follows the view of the *" in the previous *X1 "7 'on [TIE Footnote # 8] that if it is not 091w, only
the 7213 is liable but not the eater. Seemingly here too since now it is worthless for the a°7¥1 it should be considered
02w1a wR. However, according to >"w1, who maintains that he is always 21 for 1v»n nxin [TIE footnote # 4 there],
and the X"2x¥" [TIE footnote # 19] who maintains that he is 7119 only because of the >7770 j2% (which does not apply
here since prT "y *NTIRD *¥n); there is (seemingly) no question why the eater is 27r.
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Since the eater is still capable of returning the 72170 (albeit with difficulty), it is
considered as if it is observable,” and so he is swallowing (a tangible item) and
benefiting from it therefore he is 21 for vy» nx3m.

nvoIn asks:
= ANPVN NIT] NIV ARNMIV 22D (x,xy 97 pn) NYPND NDNA P92 139N NN 9NN ON)

And if you will say; but the X713 states regarding a 8% which is swallowed

up inside a person that this 73172 Xm0 [is not X»W2; and the reason it is not Xnum -
- NI NI 1392 XYW [NOTN NY 193924 5137 *NoTh NYT DIUN NY

Is not because it is not fit (to be eaten by a 73), for granted it is not fit to be eaten
if 1t was disgorged in his presence], however if it was disgorged not in his

presence it is indeed fit to be eaten by a 7. This concludes the citation from the X3 in

1211, MooIn concludes his question -
= NN NMN N 97101 7N N )9 ON

If indeed this is so (that swallowed 12°21 which is disgorged 1192 R5W, is fit to be
eaten), so if he would disgorge the mman (P77 °"v MRS WoHRY), it would

(certainly) be fit to be eaten; it is not worthless, why therefore is he not 21 for the entire
value of the 71170 at that point (before he swallowed it) and there should be no »"2%p?!

MD0IN answers:”

=95 VYN IN NVIND NIY BN 23 NA NN KD NIPIYNT 1D 9D U

And one can say that initially the 72170 was only worth a 7vy99 7w or slightly
more than a 8" -

- VYD NIY NN NP NYPYPMVY NN

But now that it became slightly ruined (because it is in his mouth in a place

where *177K? *¥n only priTa °"Y), it is not worth even a 7D (even if the owner did

not see him disgorge it). Therefore he is not liable to pay him for the actual value. However he is
liable for the entire »y» nxa. '

" In this case of priTi1 *"y *NTARY *¥7 it is not considered 09w 11X (see footnote # 6).
¥ If the 72°21 would not be fit (for a 2wn 7») it would be understood why it is not X»wn, for it is no longer considered
an (edible) 177°23, and only an edible 7%°21 is R,
? Mmoo answers that indeed in most cases he would be 21 for everything (since X1 1192 X2w), however he we are
discussing a special case.
' It seems that even though the food (in this ‘swallowed’ state) is not worth a 7019 (if it would be sold in the open
market), nevertheless the person who is swallowing this food (which was worth (more than) a 7179, is receiving
1y NR1T worth a 715 (for if he would want to have this amount of 1°¥» nX17 it would cost him a 71175 to buy the
proper food).
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mMdoIN responds to an anticipated difficulty:'!
- 593 295051 IX NIAY Y3 1IWT 1199 DY) 991 909 990 KY A1 N3N N1 IX 959N

And even if the rule is, n'"™»mM1r the 7171 is ™We, nevertheless since it is worth
something (even 5"wn nind), therefore he is liable to pay for everything —

mooIn proves that if there is a 7on, the 71171 is liable for the entire XI7:
= NN D92 29099 RN NAPIN 2 NN NN 19D 9INRT DIV (3,597 xnp xa3) OND 199INT

As the X7 states there,14 ‘because he (the 7°pn) says to him, ‘you caused me

extra fencing”’," therefore the 71 is liable for his entire benefit'® -
- 3553 NiabY 99999 299191 URIPUNRT RIPNINY DIVUN N

Or a similar ruling there; on account of blackening the walls, the squatter is
liable for everything according to all opinions.

moon offers an alternate explanation why it is considered 7nR2 7°X2:
- Ysoonn N9 PPY9IND 1PN 9997 WD DNIAN 12 PNYY 13%29)

And the X'"2x%9 explained that we are even discussing a case where the food

' If we assume 701 XY 71 7303 77 is Mo, the eater should be 1wd here as well. See footnote # 12
'2 qon X% an 7373 77 literally means, this one is deriving benefit and this (other) one is not losing. The classical case
of n"omir is where a squatter lived in someone’s property, where the owner left it vacant and has no intention of
using it or renting it out. The squatter is 71371 for otherwise he would have to pay rent, and the owner is not losing
anything, since he is not using it at all. There is a discussion whether the squatter needs to pay rent to the owner
(after he lived there). Seemingly our case here is a n"?mr situation. The eater is 7371 for a VD MW (the 1PN X7,
see footnote # 10), while the owner is not losing anything by the eater swallowing it, since even before he
swallowed it (once it was >177R? *¥n only pri7i °"Y) it was not a " w.
1 Since the swallower caused the owner a loss (even though it is 8"wn NNd), it is not considered 1017 &, and the 73
must pay for the entire 71%17; not just for the 70r. See “Thinking it over’.
4 The case is where there is a landowner (723%7) whose field is surrounded (without fencing) on all four sides by a
surrounding landowner (1wnw). If 1vaw build a fence around the outside perimeter of all his properties (thereby also
enclosing and protecting the property of 721X7), the rule is that j2187 must pay 71w»w his part in the expense of this
field, since 712187 is deriving benefit from this fence. The X3 asked, this proves that n"911r is 21 (for seemingly
1wnw is building the fence for himself, why should it bother him that j21%7 also derives some benefit from it).
' 1t is not a case of "on X, for v is losing on account of 121%7. Since 127 is in the middle of his fields the
amount of fencing increases. If not for 12187 the perimeter of 1ynw would be smaller.
' y21%1 must pay the valued amount of the benefit he received for having his property protected, which can turn out
to be much more than the extra fencing needed to cover the 7017 of 121%7. We see that if there is even a relatively
small 70, the 7371 must pay for the entire X377 received.
' This is referring to the case of the squatter (see footnote # 12); if the squatter caused the walls to be blackened by
having a fire burning in the house, etc., the squatter must pay the full rental value (the 71X17 he received) and it is not
sufficient to pay the landlord for the minimal damage he caused (the 10m). Again we see that by 701 71 7271 771, the
payment is for the 77171 and not just for the 7or.
'8 Similarly here even though the 7o is miniscule (5"ywn mnd), nevertheless the 71373 (the eater) must pay for the
entire 1°v» nNX17 (which is [more than] a 5"). See ‘Thinking it over’.
' The question is why is it niX2 PX2; since it is not *o°X», the eater should have disgorged it, and since he did not, he
is 171 2°°11 even before he swallowed it and became 71n°% 22117 so there is no n"2%5p?
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did not become repulsive
- RN 1PN YN 10 13N ¥93) NN N335 ANNT 1)

But since it was thrust down his throat and he swallowed the 770

immediately and derived benefit it is considered nrx> N2 -
- (DY N5 97 MR PN 7T P99 91D JNIUNTI YNNI THNI PRV 39 Y 9N

Even though technically it is not exactly 7R8> °X2; as we find in the end of P-9p
PIR "7 -

- Z2annv 19902 19a8R TRNY 199 2570 5703 INNT INNDIVA YHRVY DM Yya wIonT
Where the X3 explains that there can be a case where a 21 H¥2 who was X»w
served in the p"»7°2 and he is 2’1 two MKV, because the two 2°M0°X of 1 and
%M happened simultaneously; for instance he cut his finger (which made him

a 0" Yy2) with a knife which was X»W (which made him &»v). This concludes the citation
from the X773,

Z:0nnow 07D 102 ¥)* YW TWON INY 29 5y 9N
Even though it is impossible that he should not touch the knife (which makes

him Xnv) before he cut himself (which makes him a o1 %¥3); nevertheless since they are in
such close proximity in time it is considered X"2131; similarly here since he swallowed it
immediately after it was in his mouth it is considered X2 1°X2.

SUMMARY

The case of n"2%7 by nv°%27 n°22 1% ann is (only) when the 7270 was initially
worth a 7179 and now it is worth less than a 770179, but since there was a 70717 (of
even less than a 7”79) he must pay for the entire 7X17 (of a 7VID or more).
According to the X"2x", since the act of swallowing followed immediately after
the thrusting, it is considered 7R3 1°X2 and the MW of »"2%p applies.

THINKING IT OVER

2 1f it would be in a case where 7778 *¥n, then the 7¥°22 is not 77 so it is not TAXI 1°X2; however if it is TNTARY ¥
only pr7i °"y; since the XM 73°22 follows immediately, it is considered X2 PX2. See w"wA.
*! Generally the rule is MO°X %y 1 NOX X so therefore if he was first a am Y¥2 who is AT2v2 MoK, the AXMY MK
would not be %11 on the 2% Mo X; however if both 2°10°X became effective X"22 then both 20X take effect.
2 The 172 became a D1 %¥2 and X»v when he cut his finger with the Xnv 1°30. Since it is NIX N22, we say 7y 21 MO
710°X and he is 21 two mRun, if he did the x1wa 772V,
= See 021w M»dOIN here who states: 1°X21 11172 17373 725 pRTa 7 DY RO TR %1 KT 0122 XIAY 11°2 WD ON 11°2M
T RIT Y R ATT KD PnTa T DY TR SXNT 1100 MR WY ,03IR2 12 A0NW 117D 0an 2100 TR WARN ORY L7nRD. The
n" explained that since (the 7217n) is in a place where he cannot disgorge it only pri7i *"v, his throat derived 7%
(for in°n 21°1) and (the M1 7n°n) come simultaneously. And if you will say how can he be liable for payment since
it was thrust into him against his will? And one can say; that since he can disgorge it pn77 *"v and he did not
disgorge it he is pleased with this benefit.
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Mmoo proves that by 70n A1 7171 77, the 7171 is obligated to pay (not only for the
7o, but) for the entire 1Xi7. However, the cases which mooin cites are where the
7on was more than a 9"Y; however here the 7017 was less than a "W (for which
there is no 2vn).>* How can moon compare the cases?!™ Additionally; by the
house the squatter is paying the full rent which the owner could have received.
However here, the eater is paying more that owner could have received for this
partially swallowed morsel!*°

** See footnote # 13 & 18.
¥ See 7™w 0" K" and Kp NI 7"0.
26 See 12 D FIRIN 21T 77PN MY DB I,
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